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B[R 14,406, 950 + 380,044 14,786, 994
EEAGE 14, 406, 950
EERE 380, 044
Z DR 14,406,950 x 53.85% ( 35% = (1 — 35%) ) 7,758,142
K5 IR 14,786,994 + 7,758,142 22,545, 136
—REEEE 22,545,136 x 53.85% ( 35% = (1 — 35% ) ) — 5, 691 12,134,864
KBS 22,545,136 + 12, 134, 864 34, 680, 000
B FEZET 34,680,000 x 10.00% 3,468, 000
EBERREM 34,680,000 + 3,468,000 38, 148,000
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BRI 14,786, 994
MEREEEEK (ZREM) ORIREICET S 14,786, 994
BREE
BEFEEFREES 14,786, 994
BLEFERE 14, 406, 950
ETEE R 448,100
1 EHEEEE 1.00 448,100 448, 100
=
ETREO®KET 11, 850, 550
2 EIREOHHICET S5 1.00 1, 295, 250 1,295, 250
=
3 ETREADHIS I A HET 1.00 3, 437, 000 3,437,000
=
4 IEHNEBFEDOBRE 1.00 1, 984, 000 1,984,000
=
5 BIBEEY=a7ILOER 1.00 1, 818, 750 1,818, 750
=
6 RiFLICHIT O T EELEBZEA 1.00 3, 315, 550 3,315, 550
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=
BREEDRE - EE 1,033, 300
1 BE=s0kE 2.00 215, 300 430, 600
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8 REAREMDIER 2.00 301, 350 602, 700
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9 EATHRE 1.00 126, 500 126, 500
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10 SRR E 2.00 126, 500 253, 000
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11 &RRI|E 1.00 204, 000 204, 000
]
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12 £BTEREEER 1.00 491, 500 491, 500
=

EEEE 380, 044

EESRE 71,810

13 BiE 1.00 71,810 71,810
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EBRARE 138, 234

14 =EHRAMRE 1.00 138,234 138, 234
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15 EHHER 1.00 170, 000 170, 000
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HEE
A 1.00 717, 500. 00 71,500
F{EHRAm GRED
A 1.50 66, 900. 00 100, 350
HEm (A)
A 2.50 59, 600. 00 149, 000
HEm (B)
A 2.50 48, 500. 00 121, 250
& Hi 1EZRERN  1.00K 448, 100. 00 448, 100
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FEHAR (F%E)
A 2.50 66, 900. 00 167, 250
HER (A)
A 5.00 59, 600. 00 298, 000
HER (B)
A 6.00 48, 500. 00 291, 000
HER (C)
A 8.00 40, 300. 00 322,400
Hit &
A 6.00 36, 100. 00 216, 600
& B 1E%8ESN : 1.00=C 1, 295, 250. 00 1,295, 250
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A 5.00 66, 900. 00 334, 500
Em (A)
A 13.00 59, 600. 00 774, 800
HEm (B)
A 15.00 48, 500. 00 721, 500
Em (C)
A 20. 00 40, 300. 00 806, 000
B8
A 22.00 36, 100. 00 794, 200
& B 1EZRERN  1.00K 3,437, 000. 00 3,437,000
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F{EHEm (555
A 3.00 66, 900. 00 200, 700
HER (A)
A 6.00 59, 600. 00 357, 600
HER (B)
A 8.00 48, 500. 00 388, 000
HER (C)
A 15.00 40, 300. 00 604, 500
Kifrg
A 12.00 36, 100. 00 433, 200
& it 1E%8ESN : 1.00=C 1, 984, 000. 00 1,984, 000
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A 2.50 66, 900. 00 167, 250
HER (A)
A 4.00 59, 600. 00 238, 400
HER (B)
A 8.00 48, 500. 00 388, 000
HER (C)
A 12.00 40, 300. 00 483, 600
B8
A 15.00 36, 100. 00 541, 500
& B 1EZRERN  1.00K 1, 818, 750. 00 1,818, 750
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F{EHEm (555
A 3.50 66, 900. 00 234,150
HEm (A)
A 7.50 59, 600. 00 447,000
HEn (B)
A 18.00 48, 500. 00 873, 000
HEm (C)
A 24.00 40, 300. 00 967, 200
Kifrg
A 22.00 36, 100. 00 794, 200
& it 1E%8ESN : 1.00=C 3,315, 550. 00 3,315, 550
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F{EHRAm GRED
A 1.00 66, 900. 00 66, 900
HEm (A)
A 1.00 59, 600. 00 59, 600
HEm (B)
A 1.00 48, 500. 00 48, 500
HEh (C)
A 1.00 40, 300. 00 40, 300
& Hi 1YEZRER : 1.00[E 215, 300. 00 215, 300
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% b R - KT BT B = B O{f * % W E H %
FEHAR (F%E)
A 1.00 66, 900. 00 66, 900
HER (A)
A 1.50 59, 600. 00 89,400
HER (B)
A 1.00 48, 500. 00 48, 500
HER (C)
A 1.50 40, 300. 00 60, 450
Hit &
A 1.00 36, 100. 00 36, 100
& B YEZERES : 1.00[E 301, 350. 00 301, 350
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FEHAR (F%E)
A 1.00 66, 900. 00 66, 900
HER (A)
A 1.00 59, 600. 00 59, 600
= it YE%HES - 1.00[E 126, 500. 00 126, 500
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F{EHRAm GRED
A 1.00 66, 900. 00 66, 900
HEm (A)
A 1.00 59, 600. 00 59, 600
& Hi 1YEZRER : 1.00[E 126, 500. 00 126, 500
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% b R - KT B = B O{f £ H %
HEnE
A 1.00 717, 500. 00 71,500
FEHAR (F%E)
A 1.00 66, 900. 00 66, 900
HER (A)
A 1.00 59, 600. 00 59, 600
& it 1EZ8EH : 1.00[E] 204, 000. 00 204, 000
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% L] R - KT ==Rivi = B @ %8 g &
FEHAR (F%E)
A 1.50 66, 900. 00 100, 350
HER (A)
A 2.50 59, 600. 00 149, 000
HER (B)
A 2.50 48, 500. 00 121, 250
HER (C)
A 3.00 40, 300. 00 120, 900
& it 1E%8ESN : 1.00=C 491, 500. 00 491, 500
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ElES
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& B 1EZRERN  1.00K 71,810.00 71,810
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EBRARE
= 1.00 138, 234.00 138, 234
& it 1E%8ERH : 1.00=C 138, 234.00 138, 234
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&% EBHER IEED
% b R - KT BT 2 B O{f 2 H %
EBHRERERE
= 1.00 170, 000. 00 170, 000
& it 1E%8ERH : 1.00=C 170, 000. 00 170, 000




